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(i) U= ShHIP 19 5 dP a8 U= g | T® u=a & o 1 3ics Fuia &1 od uw
28 B

(iii) U= ShHIP 6 T 20 T 3fiale® faweu fad U Bl

(iv) U= HHID 6 F 12 T 31 TY IR U= 8] TP U= BT IR TIHT 30 Usal
¥ foriau | ude w= R 2 3 fRuffRd g

(v) U HHI® 13 F 16 dP TY IUIT U 8| TID U= BT ITR T 75 Tea| A
fIfau | T uz W 3 3i AYiRd 3

(Vi) T SFHIP 17 ¥ 20 TP dIY ITRIT ued o] YD U= BT IR THIT 120 Weg| A
fIRau | T® v W 4 3@ FYiRd g

(vii) TgT TIRISH B, WY U4 i o S84

Instructions:

(i) All Questions are compulsory.

(i) There are 28 objective questions from question no. 1 to 5. Each Question
carries 1 mark.

(iii) Internal options are given from question No. 6 to 20.

(iv) Question No. 6 to 12 are very short answer type question. Answer each
guestion in about 30 words. Each question carries 2 marks.

(v) Question No. 13 to 16 are short answer type question. Answer each
qguestion in about 75 words. Each question carries 3 marks.

(vi) Question No. 17 to 20 are long answer type question. Answer each
question in about 120 words. Each question carries 4 marks.

(vii) Draw well labelled diagram if necessary.
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198! faweu e fafae- 1x6=6

i, Sgaateta telf & e Is 37 - B-
(2) ST (b) (c) I (d) 0T
i, 3T ISt ! AfehadT § 814 aTa AT &-
(2) <l (b) HER (c) TSH (d) SRR
iii. TRITHIR & ol DI GWh Hg! fdhed ol gie-

e =

(a) T-ufefify, Soeriem, dmw we, - ?fEﬁEH 3- SIS $ad,
TO-TTSil
(b) d-Tfrs iy, dt-usifiRmy, S1-1e Wd, §- TUicH, Th- dISeH $Hdb,
T-groft
(c) S-ufUSiiy, F-teSrfiftrm, Th-79 WRd, 3- ¢dleH, T- SIS $a®,
Sl-wAfaca
(d) F-ufUsiiy, T-wsihilRmm, tr-ae Rd, 3- ¢dien, - SomeH Sdb,
T-groft

iv.  SIIARI® iR®! | Sftad &dl B dRg STANT [T oI 5-

(a) DNA TIdaRSl (b) DNA TSl

(c) gferbsl (d) YT TS IgfaRITS
V.S O ! fpg = u # fRféy fosar sirar 8-

(@)D (b) P (c)N (d)d
vi.aR R & IRy safekt H TUREET 1 fRufd gt -

(@) 44 + X (b) 44 + XXY

(c) 44 + XY (d) 44 + XXX




1. Choose the correct option and write-

I.  In angiosperm plants the site of sexual reproduction is-

(a) Seed (b) Fruit (c) Flower (d) Embryo

lIl. The disease caused by activation of oncogene is-
(a) T.B. (b) Cancer (c) AIDS (d) Asthma

[ll.  Select the correct option by looking at the picture of the young anther-
e @?é :
b
| a

(a)a- epidermis, b-endothecium, c-middle layers,d-tapetum, e-
sporogenous tissue, f-connective

(b)b-epidermis, c-endothecium, d-middle layers, e-tapetum, f-
sporogenous tissue, a-connective

(c) b-epidermis, c-endothecium, f-middle layers, e-tapetum, a-
sporogenous tissue, d-connective

(d)b-epidermis, c-endothecium, f-middle layers, e-tapetum, d-
sporogenous tissue, a-connective

IV. Used as molecular scissors in genetic engineering-
(a) DNA polymerase
(b) DNA ligase
(c) Helicase
(d) Restriction endonuclease

V. Population density is designed as-

(@)D (b) P ()N (d)d
VI.  The condition of chromosomes in a person suffering from Turner syndrome
will be-
(a) 44+ X (b) 44+XXY

(c) 44+ XY (d) 44+XXX




2. feaa =i @t g o) e 1x6=6

l.
Il.
[I.
V.
V.
VI.

2.

RNED
DNAé?&@ﬁE%ﬂmeﬁ?wma?aﬁaas@mmﬁﬁm ........... 2
BIEIRINE]

........ A% Hddb J U GICII %l

T STia S SMTIAMRI® W16+ &) 9ad Ga1 T8 39 ... Hgd 5
UYH RS M BT ... gl

U RIS I ol b ..., TR 3T iaT g

Fill in the blanks and write-

From 200 secondary sperm cells. ......... sperm will be formed.
The number of hydrogen bonds between adenine and thymine in a DNA
molecule is............

Penicillin is obtained from ..................... fungus.

Organisms whose genetic composition has been altered are called......

V. Name of the first transgenic cow is ...........

VI. Every ecosystem depends on... for energy.

3.9 T 3 IFAT- 1x6=6

. GIFT S &I Ffd & &1 faf 51

Il. ISR ¥ AFE &1 HUTE T[ET 1400cc 3MHR P gial g

. fIza &t od oid fafgeudr § YRd & IEieR! 8.1% &

IV. 3d® a4 gRI §SIR] ! T H U1gUl Bl Idd B I [afd e vae=
CEIGIR]

V. oid YeH-RI Tierl ! JHAH Ugdrd g

VI. HRUY gfegH & fAHfur guur & giar g1

3. Choose true or false-

I. GIFT is a method to control birth rate.
[I. The cranial cavity of Neanderthal man is 1400cc in size.
lll. India's share in the total biodiversity of the world is 8.1%.
I\VV. The method of producing thousands of plants through tissue culture is called
micro propagation.
V. Biopesticides harm the environment.
VI. The corpus luteum is formed in the testis.




4.%@&%@%@%@@

4. Match and write the correct pairs-

Column A

I. Angiosperm embryo sac

Il. Malaria

[ll. Homology

V. Palindrome

V. Mutualism

5.0% 9T A IR fofau-

1.
V.
V.

ZIFT &1 QX1 A1 forRau|
SIS a7 RIgid &1 gHIHT fafay

JHE H U O a1d §TH®R® e i &1 14 e

PIcH B
(a) IR famrg

(b) ++

(c) T PIRTDIT
(d) GAATTC

(e) WSHISTH

Column B

1x5=5

(a) Convergent evolution

(b) ++
(c) Seven-celled

(d) GAATTC

(e) Plasmodium

Sfe & gl o by §Y gRI I8! 8T 87

IUCN &1 [RT 9 fefRau |

5. Write the answer in one sentence-

l.
.
1.
V.
V.

Write the full form of ZIFT.

Write the equation for Hardy-Weinberg theory.
Write the name of the harmful chemical compound found in tobacco.
By which bond are the two chains of insulin held together?

Write the full form of IUCN.

1x5=5




6. SIRET f[ahic & &l HRUT fRau| 2

Write two reasons for population explosion.
SHYdl/ or

TRy a1 g2

What is amniocentesis?

7. Hed & yHIfaar & fFaw &) Wy S| 2

Explain Mendel's law of dominance.
HYdl/ or

31quf gUTTaeT P WY Pifo|

Explain incomplete dominance.

8. SUURI g [ &1 g2 2
What is divergent biological evolution?

3HYdl/ or
IS feR A Siad Bt ST & 0= FAT & - T & sy Suan far?

Which mixture of gases did scientist Miller use in his experiment on the origin of
life?

0.9 1 Ued T4 & A1H ferfau| 2

Write the names of the constituent gases of biogas
SHYdl/ or
SAIb D it feuie o Wy Hifee|

Explain Biochemical Oxygen demand.

10.519 fafayd o1 eifd & PIs < pRU fef@u| 2

Write any two reasons for loss of biodiversity
SHYdl/ or
T R U1 U4 oTg] RITH WU H iy ol SR fefeu|

Write any two differences between in-situ conservation and Ex-situ conservation

11. IRUCT ERT SRNUEYE! & b g UBR JhT Sl bl 872 2

How can Biopatent prevent Biopiracy?
SHYdl/ or

SN P &1 H ofd Wit & Dis a1 srgw fofau)

Write any two applications of biotechnology in agriculture.




12, TgofadT T FeHiferar & &1s &l ik fafauy 2

Write any two differences between symbiosis and commensalism.

SHYdl/ or
i fau 77T A afd & o fORIfE A, B Td 'C' &1 (&g HITSY a7 IUb Aiid
f&T T geait & IR ferfaw:

FHITH i SR =

e -
(a) ToIfire ‘B dy1 'C' &t ugaH R fafau|
(b) ForT 3R TR ITerd TORIAST &1 Saur fobar T, 39 fafau|

Study the age pyramids 'A’, 'B' and 'C' of the human population given below and
answer the questions given below it:

S
|

Post-reproductive SR L o
; = e e =
Reproductive
Pre-reproductive [ ] ! L
‘A’ ‘B’ L0

(a) Identify pyramids 'B' and 'C' .and write it.
(b) Write the basis on which the above pyramids have been drawn.

13.51d U ITHI Tl HT fda1g T qur G2 I gidl § df 39 i I g arehl Sari
&1 U BT IR DI Fo gRT UeRid S| 3

With the help of diagram show the inheritance of colour blindness in the children
born from a normal woman who marries a colour blind man.

3HYdl/or

U1 B § ST I §) oI B, Afb &t 39! argeh gl §, PRur Wy
DIt

Usually men suffer from haemophilia, but women are its carrier, explain the
reason.

14. W QY B! Taond 1A & (o0 TaY 35T F! AHT Il 82 $1s 3 SRY fifaw 13
Why mother’s milk is considered the best for a newborn baby? Write any three
reasons.

[}

SHYdl/or
R[ehTU] S Dt feh T3 T JWY fAeTu] Hifor |

Give a diagrammatic representation of the process of spermatogenesis.
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15. dligdad T 82 I8 AR ol INeRS R § 2 H13 I oRu fifdu| 3

What is sewage? Why is it harmful to us? Give any three reasons.
HYdl/or

I geA Sfiat o T T S 31 U gRT Sdfed Ueh-Udh IS P ATH T
U fefau|

(a) TERRTAY AR

(b) SEPISHT UTTCTETIRA

(c) ARG Y IRy

Three microbes are listed below. Name the product produced by each one of
them and mention their use.

(a) Aspergillus niger

(b) Trichoderma polysporum

(c) Monascus purpureus

16.91d HR &1 FORIfirs ter vd It H1 UeR &1 81 Iobdl 5,318 0 gRT WY
PHIfoTY| 3

The pyramid of biomass can be both straight and inverted, explain with example.
SHYdl/or
Qe YRl U9 Qe ST | hlg o SfaR g

Write any three differences between food chain and food web.

17. SITY U TSHT BT TP Hd U IUDT P o [T foiRag| 4

Explain DNA packaging, and write any three characteristics of it.
SHYdl/or

UIEH A0 3 o fohar &1 Sedig Fequr Sifog |

Give a diagrammatic representation of the transcription process of protein
formation.

18. fgf= = (Double fertilization) Td FAETIA (Triple fusion) &1 fohdT &1 WP
DI 4

Explain the process of double fertilization and triple fusion.
SHYdl/or

TS &1 WY Hd gU 3UP &l A [ORau|
Explain the Apomixis and write its two importance.




19. 7% ¥ SHiaTy] gRT e aTd fbgl IR AT ob 10, PReb 9 Teh .U &0l
forfa 4

Write the names, causes and one symptom of any four diseases caused by
bacteria in humans.

3{Ydl/or
iy td fAfspy uforen & ois IR Sidr faf@u|

Write any four differences between active and passive immunity.

20. & T o # PCR & TRUN & ¥ foRaw vd 391 9uiF Hifow| td 59 dis
T ST faRau| %: : 4

In the given figure, write the names of the steps of PCR and describe them. Write
any three uses of it.

SHYdl/or
AT YaTg® Bi Bl IR [ARINAN forad gu, sl &l Fal-iv1 aTed! & aR |
faRau |
Write any four characteristics of cloning vectors and also write about any two
cloning vectors.




